English World Level 4 Testbuilder

Exercise 1

Werite the verb in the past tense.

1 In Computer Club Anna (make) an animation.

2 In Swimming Club Pete (swim) 50 metres.

3 In choir Candy (hear) about a competition.

4 The children in choir (sing) some very funny songs.
5 In an email Sam (tell) Pete about his Chess Club.

6 In Anna’s animation a girl (throw) a ball.

7 Tom (catch) the basketball yesterday.

8 Sam played chess against Ben and he (win)

9 He (break) one of his chess pieces.

10 Anna (take) Sam'’s last chess piece.
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Exercise 2

Choose.

o was carrying
1 Red Riding Hood a basket to her grandmother’s house.

were carrying
S was singing.
2 The birds in the trees
were singing.
was watching o
3 The wolf Red Riding Hood.
were watching
was playin
4 The rabbits paying in the forest.
were playing
was looking at

5 The wolf's enormous eyes Riding Hood.
were looking at

Exercise 3

Complete the sentences. Use the adjective in brackets.

1 (beautiful) The peacock is than the goose but the swan is

2 . 3 (horrible) The green monster is than

the brown monster but the black monster is 4
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Exercise 4

Complete the sentences with an adjective in
the box and “too”.

expensive dangerous tired heavy
cold noisy scary lazy hot difficult

1 | cannot buy that dress. It is

2 Itis late and | cannot do my homework. | am

3 The boy cannot lift the desk. It is

4 | cannot eat this pizza. It is

5 1do not like swimming in the sea at night. It is

6 The little girl does not like monsters. They are

7 | do not like snow. It is

8 | do not like this homework. It is

9 | do not like that music. It is

10 John’s brother does not work. He is
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Exercise 5

Tick () the correct word. -

1 At first it was dark and Red Riding Hood [ | could [l couldn't see.

2 Later she [l could [ couldn't see her grandmother’s enormous ears!
3 She Ll could LI couldnt see lots of big teeth!

4 The wolf [l could [ couldn't eat Red Riding Hood.

5 Her father opened the cupboard. They [| could [ couldn’t see

Grandmother.

Exercise 6

Write sentences with “as ... as”.

1 The goose is frightened. The duck is frightened.

2 The swan is graceful. The albatross is graceful.

3 The cygnet is small. The gosling is small.
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Answer 1

1 made 2swam 3heard 4sang 5told 6threw 7caught 8won
9 broke 10 took

Answer 2

1 was carrying 2 were singing 3 was watching 4 were playing

5 were looking at
Answer 3

1 more beautiful 2 the most beautiful 3 more horrible 4 the most horrible
Answer 4

1 too expensive 2 too tired 3 too heavy 4 toohot 5 too dangerous

6 too scary 7 too cold 8 too difficult 9 too noisy 10 too lazy

Answer 5
1 couldnt 2 could 3could 4couldn’t 5 could
Answer 6

1 The goose is as frightened as the duck.

2 The swan is as graceful as the albatross. 3 The cygnet is as small as the gosling.
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